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”strong=”l/5337|�/���������/�� x-morph=”OSHM:HR/Vhc/Sp3mp” x-
cantillationLevel=”1.2.1” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.2.0” ”strong=”5678|�������� x-morph=”OSHM:HNcfsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/b/784|�����/��/�� x-morph=”OSHM:HC/R/Ncbsc” x-cantillationLevel=”1.1.0”
”strong=”7068|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”398|��������� x-morph=”OSHM:HVNi3fs” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”3617” x-morph=”OSHM:HNcfsa”
”strong=”389|���� x-morph=”OSHM:HTa”�����������|strong=”926”
x-morph=”OSHM:HVNsfsa” x-cantillationLevel=”0.1.0” strong=”6213|����������
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1” ”strong=”853|����
x-morph=”OSHM:HTo” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” x-cantillationLevel=”0.0” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”� �2 strong=”7197|���������������� b” x-morph=”OSHM:HVrv2mp”

x-cantillationLevel=”1.0” strong=”c/7197|���������/�� b” x-morph=”OSHM:HC/Vqv2mp”
x-cantillationLevel=”1” strong=”d/1471|������/�� a” x-morph=”OSHM:HTd/Ncmsa”

x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3700|��������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0”� 2 ”strong=”b/2962|�������/���
x-morph=”OSHM:HR/D” x-cantillationLevel=”1.1.0” ”strong=”3205|������
x-morph=”OSHM:HVqc” ”strong=”2706|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”k/4671|����/��� x-morph=”OSHM:HR/Ncmsa”
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x-cantillationLevel=”1.0” strong=”5674|������ a” x-morph=”OSHM:HVqp3ms”
”strong=”3117|����� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”b/2962|������/��� x-morph=”OSHM:HR/D” x-cantillationLevel=”0.2.1.0”
� ”strong=”3808|��� x-morph=”OSHM:HTn”��������|strong=”935” x-
morph=”OSHM:HVqi3ms” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.2.1” ”strong=”2740|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.2.0” ”strong=”639|��� x-morph=”OSHM:HTa”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”b/2962|�������/���
x-morph=”OSHM:HR/D” x-cantillationLevel=”0.1.0” ”strong=”3808|��� x-
morph=”OSHM:HTn”��������|strong=”935” x-morph=”OSHM:HVqi3ms”
strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.1”
”strong=”3117|����� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0”
”strong=”639|��� x-morph=”OSHM:HTa”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 3 ”strong=”1245|����������� x-morph=”OSHM:HVpv2mp”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”6035”
x-morph=”OSHM:HAampc” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”4941|��/���������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0”
”strong=”6466|��������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1”
”strong=”1245|���������� x-morph=”OSHM:HVpv2mp”��������|strong=”6664”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.0” ”strong=”1245|�����������
x-morph=”OSHM:HVpv2mp” ”strong=”6038|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.2” ”strong=”194|������� x-morph=”OSHM:HD” x-
cantillationLevel=”0.1.0” ”strong=”5641|������������� x-morph=”OSHM:HVNi2mp”
x-cantillationLevel=”0.1” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”639|��� x-morph=”OSHM:HTa”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 4 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”5804|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” strong=”5800|��������� a” x-morph=”OSHM:HVqsfsa”
”strong=”1961|��������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.1”
”strong=”c/831|������������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0”
strong=”l/8077|���������/�� a” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1”
”strong=”795|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
strong=”b/6672|������������/���� a” x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0.1.0” ”strong=”1644|��/������������ x-morph=”OSHM:HVpi3mp/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”c/6138|���������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” strong=”6131|��������� a” x-morph=”OSHM:HVNi3fs”
x-cantillationLevel=”0”� � 5 ”strong=”1945|����� x-morph=”OSHM:HTj”
x-cantillationLevel=”1.0.1” ”strong=”3427|���������� x-morph=”OSHM:HVqrmpc”
x-cantillationLevel=”1.0.0” strong=”2256|������ a” x-morph=”OSHM:HNcbsc”
”strong=”d/3220|�����/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
strong=”1471|������ a” x-morph=”OSHM:HNcmsc” ”strong=”3774|����������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1” ”strong=”1697|������
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.1.1”
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strong=”3667|���������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”776|������ x-morph=”OSHM:HNcbsc” ”strong=”6430|��������������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”0.1” ”strong=”c/6|��/�������������/��
x-morph=”OSHM:HC/Vhq1cs/Sp3fs” x-cantillationLevel=”0.0” ”strong=”m/369|�����/��
x-morph=”OSHM:HR/Tn” ”strong=”3427|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� 6 ”strong=”c/1961|��������/��� x-morph=”OSHM:HC/Vqq3fs”
x-cantillationLevel=”0.0.1.0” strong=”2256|������ a” x-morph=”OSHM:HNcbsc”
”strong=”d/3220|�����/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.1”
strong=”5116|������ a” x-morph=”OSHM:HNcbpc” x-cantillationLevel=”0.0.0”
”strong=”3741|������� x-morph=”OSHM:HNcfpc” strong=”7462|�������
b” x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0.0” ”strong=”c/1448|���������/��
x-morph=”OSHM:HC/Ncfpc” ”strong=”6629|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 7 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
strong=”2256|������ a” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0.1”
”strong=”l/7611|����������/�� x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0.0”
strong=”1004|������ b” x-morph=”OSHM:HNcmsc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” strong=”7462|�/�������� b” x-morph=”OSHM:HVqi3mp/Sn”
x-cantillationLevel=”1” strong=”b/1004|�������/��� b” x-morph=”OSHM:HR/Ncmpc”
”strong=”831|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
”strong=”b/6153|�������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”7257|�/����������� x-morph=”OSHM:HVqi3mp/Sn” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”6485|�/���������
a” x-morph=”OSHM:HVqi3ms/Sp3mp” x-cantillationLevel=”0.0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”c/7725|�����/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”7622|�/���� x-morph=”OSHM:HNcfsc/Sp3mp” x-wType=”x-ketiv”
1 � 8 ”strong=”8085|������������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0”
”strong=”2781|��������� x-morph=”OSHM:HNcfsc” ”strong=”4124|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/1421|����������/��
x-morph=”OSHM:HC/Ncbpc” x-cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”5983|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”2778|��������� a” x-morph=”OSHM:HVpp3cp” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”5971 a” x-
morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”c/1431|�������������/��
x-morph=”OSHM:HC/Vhw3mp” x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/����������|strong=”1366” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0”� 9 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
strong=”2416|��� a” x-morph=”OSHM:HAamsa”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1.2.1” ”strong=”5002|������
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1.2.0”

1+ ”strong=”7622|�/����������/���� x-morph=”OSHM:HNcfsc/Sp3mp” x-
cantillationLevel=”0”
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”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2” strong=”3588|����� a”
x-morph=”OSHM:HC”��������|strong=”4124” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.1.1.0” ”strong=”k/5467|������/��� x-morph=”OSHM:HR/Np”
”strong=”1961|���������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.1.1”
strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc” ”strong=”5983|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”k/6017|��������/����
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1” ”strong=”4476|���������
x-morph=”OSHM:HNcmsc” ”strong=”2738|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0.0” ”strong=”c/4379|�������/�� x-morph=”OSHM:HC/Ncmsc”�������|strong=”4417”
x-morph=”OSHM:HNcmsa” strong=”c/8077|���������/�� a” x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”7611|����������
x-morph=”OSHM:HNcfsc” strong=”5971|��/����� a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”962|�/��������� x-morph=”OSHM:HVqi3mp/Sp3mp”
x-cantillationLevel=”0.1” strong=”c/3499|������/�� a” x-morph=”OSHM:HC/Ncmsc”
strong=”1471|��� a” x-morph=”OSHM:HNcmsa” x-wType=”x-ketiv” 2 ”strong=”5157|�/����������
x-morph=”OSHM:HVqi3mp/Sp3mp” x-cantillationLevel=”0”� 10 ”strong=”2063|�����
x-morph=”OSHM:HPdxfs” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”1347|�/��������� x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”2778|���������
a” x-morph=”OSHM:HVpp3cp” x-cantillationLevel=”0.1.0” ”strong=”c/1431|������������/��
x-morph=”OSHM:HC/Vhw3mp” x-cantillationLevel=”0.1” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”5971 a” x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0”�
11 ”strong=”3372|������� x-morph=”OSHM:HVNrmsa” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.2” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”7329|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”430”
x-morph=”OSHM:HNcmpc” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1” ”strong=”c/7812|��������������/�� x-morph=”OSHM:HC/Vvi3mp”���/��|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”m/4725|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”339|������� x-morph=”OSHM:HNcmpc”
strong=”d/1471|��������/�� a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
12 ”strong=”1571|���� x-morph=”OSHM:HTa”��������|strong=”859 d”
x-morph=”OSHM:HPp2mp” ”strong=”3569|���������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”0.1” strong=”2491|��������� a” x-morph=”OSHM:HAampc”

2+ strong=”1471|�/���������� a” x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”0.0”
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”strong=”2719|�/�������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.0”
”strong=”1992|������� x-morph=”OSHM:HPp3mp” x-cantillationLevel=”0”�
13 ”strong=”c/5186|����/�� x-morph=”OSHM:HC/Vqj3ms” ”strong=”3027|���/���
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”6828” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”c/6|��������/��� x-morph=”OSHM:HC/Vpi3ms”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”804”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”c/7760|�������/��
a” x-morph=”OSHM:HC/Vqj3ms” ”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”5210”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”l/8077|���������/��
a” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1” ”strong=”6723|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” strong=”k/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 14 ”strong=”c/7257|��������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”b/8432|��/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3fs”
”strong=”5739|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��/������|strong=”2416
c” x-morph=”OSHM:HNcfsc/Sp3ms”������|strong=”1471 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2” ”strong=”1571|���� x-morph=”OSHM:HTa”�������|strong=”6893”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0” ”strong=”1571|����
x-morph=”OSHM:HTa”��������|strong=”7090” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”b/3730|��/�����������/��� x-morph=”OSHM:HR/Ncmpc/Sp3fs”
x-cantillationLevel=”1.0” strong=”3885|��������� a” x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1” strong=”6963|����� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0.0” ”strong=”7891|���������� x-morph=”OSHM:HVoi3ms”
”strong=”b/2474|��������/���� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1.0”
strong=”2721|������ b” x-morph=”OSHM:HNcmsa” strong=”b/5592|�����/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”731|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”6168|������ x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0”� 15 ”strong=”2063|������ x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”1.2.0.0” 3 We read one or more accents in L differently
from BHQ. 4 strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/5947|����������/�� x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.2.0”
”strong=”d/3427|�����������/�� x-morph=”OSHM:HTd/Vqrfsa” ”strong=”l/983|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2” ”strong=”d/559|���������/��
x-morph=”OSHM:HTd/Vqrfsa” x-cantillationLevel=”1.1.0” ”strong=”b/3824|��/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp3fs” x-cantillationLevel=”1.1” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.0” strong=”c/657|�/�������/��
a” x-morph=”OSHM:HC/Ncmsc/Sp1cs” ”strong=”5750|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1” strong=”349|������ a” x-morph=”OSHM:HTi” x-
cantillationLevel=”0.2.1.0” � ”strong=”1961|�������� x-morph=”OSHM:HVqp3fs”
”strong=”l/8047|��������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.2.1”

3C
4c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.
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”strong=”4769|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.0”
strong=”l/2416|�������/��� c” x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.2”
”strong=”3605|����� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0”
strong=”5674|������� a” x-morph=”OSHM:HVqrmsa” strong=”5921|��/������
a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1” ”strong=”8319|���������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”5128|��������
x-morph=”OSHM:HVhi3ms” ”strong=”3027|��/���� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0”� �3 ”strong=”1945|����� x-morph=”OSHM:HTj” ”strong=”4754|��������

x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”1.0” ”strong=”c/1351|����������/��
x-morph=”OSHM:HC/VNsfsa” x-cantillationLevel=”1” strong=”d/5892|�����/��

b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” ”strong=”d/3238|��������/��
x-morph=”OSHM:HTd/Vqrfsa” x-cantillationLevel=”0”� 2 ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”8085|���������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.1.0” strong=”b/6963|�����/��� a” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3947|��������
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.0” ”strong=”4148|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”b/3068|������/����
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”982|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”0.1” ”strong=”413|��� x-morph=”OSHM:HR”��/���������|strong=”430”
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7126|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”0”� 3 ”strong=”8269|��/������� x-morph=”OSHM:HNcmpc/Sp3fs”
”strong=”b/7130|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp3fs” x-
cantillationLevel=”1.1” strong=”738|��������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”7580|����������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1” ”strong=”8199|���/��������� x-morph=”OSHM:HVqrmpc/Sp3fs”
x-cantillationLevel=”0.1.0” ”strong=”2061|�������� x-morph=”OSHM:HNcmpc”
”strong=”6153|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”3808|���� x-morph=”OSHM:HTn” strong=”1633|�������� a”
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0” ”strong=”l/1242|�������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 4 ”strong=”5030|���/���������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1.1.0” ”strong=”6348|�����������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.1” ”strong=”376|���������
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”1.0” ”strong=”900|�����������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1” ”strong=”3548|���/���������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”0.1.0” strong=”2490|��������
c” x-morph=”OSHM:HVpp3cp”��������|strong=”6944” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”2554|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0” ”strong=”8451|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 5 ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”6662|�������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1.0”
”strong=”b/7130|��/��������/��� x-morph=”OSHM:HR/Ncmsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”3808|���� x-morph=”OSHM:HTn” strong=”6213|���������
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” strong=”5766|��������
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b” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”b/1242|�������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”b/1242|�������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1.0.0” ”strong=”4941|��/���������� x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”5414|������� x-morph=”OSHM:HVqi3ms” ”strong=”l/216|�����/��
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” strong=”5737|��������� c” x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”���������|strong=”3045”
x-morph=”OSHM:HVqrmsa” ”strong=”5767|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”1322|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 6 ”strong=”3772|����������� x-morph=”OSHM:HVhp1cs”
strong=”1471|������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1”
”strong=”8074|����������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.1.0”
”strong=”6438|�/���������� x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”1.1”
strong=”2717|������������� b” x-morph=”OSHM:HVhp1cs” ”strong=”2351|�/����������
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”m/1097|�������/��
x-morph=”OSHM:HR/Ncmsc” strong=”5674|������� a” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1” strong=”6658|��������� b” x-morph=”OSHM:HVNp3cp”
strong=”5892|����/����� b” x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”0.0.0”
”strong=”m/1097|������/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”376”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”m/369|�����/��
x-morph=”OSHM:HR/Tn” ”strong=”3427|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� 7 ”strong=”559|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.2.0.0” ”strong=”389|���� x-morph=”OSHM:HTa”�����������|strong=”3372”
x-morph=”OSHM:HVqi2fs” ”strong=”853|��/����� x-morph=”OSHM:HTo/Sp1cs”
x-cantillationLevel=”1.2.0” ”strong=”3947|��������� x-morph=”OSHM:HVqi2fs”
”strong=”4148|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”3772”
x-morph=”OSHM:HVNi3ms” ”strong=”4585|��/�������� x-morph=”OSHM:HNcbsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”�������������|strong=”6485
a” x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” strong=”5921|��/������
a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”403|������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”7925|�������������
x-morph=”OSHM:HVhp3cp” ”strong=”7843|������������ x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”0.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”5949|�/����������� x-morph=”OSHM:HNcfpc/Sp3mp”
x-cantillationLevel=”0”� 8 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
”strong=”2442|������ x-morph=”OSHM:HVpv2mp”��/���|strong=”l” x-
morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”l/3117|�����/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.0” strong=”6965|�/������ b” x-morph=”OSHM:HVqc/Sp1cs”
”strong=”l/5706|����/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”4941|��/����������
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”l/622|������/�� x-morph=”OSHM:HR/Vqc”
strong=”1471|�������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.2.2.0”
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”strong=”l/6908|�/�������/�� x-morph=”OSHM:HR/Vqc/Sp1cs” ”strong=”4467|�����������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.2.2” ”strong=”l/8210|���������/��
x-morph=”OSHM:HR/Vqc” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
”strong=”2195|��/������ x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.2.1”
”strong=”3605|����� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.2.0”
”strong=”2740|������� x-morph=”OSHM:HNcmsc” ”strong=”639|�/������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.2” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0” ”strong=”b/784|�����/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”7068|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”398|��������� x-morph=”OSHM:HVNi3fs”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”� 9 strong=”3588|�����
a” x-morph=”OSHM:HC”�����|strong=”227 a” x-morph=”OSHM:HD” x-
cantillationLevel=”1.0.0” ”strong=”2015|���������� x-morph=”OSHM:HVqi1cs”
”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”5971 a” x-
morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”8193|�������
x-morph=”OSHM:HNcfsa” ”strong=”1305|��������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1” ”strong=”l/7121|������/�� x-morph=”OSHM:HR/Vqc”
”strong=”3605|��/����� x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.1.0”
”strong=”b/8034|�����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”l/5647|��/������/��
x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”7926|�������
x-morph=”OSHM:HNcmsa” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0”� 10 ”strong=”m/5676|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”l/5104|��������/�� x-morph=”OSHM:HR/Ncmpc”�������|strong=”3568
a” x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”6282|��/������
a” x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.1.0” ”strong=”1323|����
x-morph=”OSHM:HNcfsc”�/�������|strong=”6327 a” x-morph=”OSHM:HVqsmsc/Sp1cs”
x-cantillationLevel=”0.1” 5 Marks a place where we agree with BHQ against
BHS in reading L. 6 7 ”strong=”2986|�/��������� x-morph=”OSHM:HVhi3mp/Sn”
x-cantillationLevel=”0.0” ”strong=”4503|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”0”� 11 ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1.1”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”954|�����������
x-morph=”OSHM:HVqi2fs” x-cantillationLevel=”1.1.0” ”strong=”m/3605|�����/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”5949|��/������������ x-morph=”OSHM:HNcfpc/Sp2fs”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6586|������������ x-morph=”OSHM:HVqp2fs” x-cantillationLevel=”1.0”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” strong=”3588|����
a” x-morph=”OSHM:HC”�����|strong=”227 a” x-morph=”OSHM:HD” x-
cantillationLevel=”0.1.1.0” � ”strong=”5493|������� x-morph=”OSHM:HVhi1cs”
”strong=”m/7130|��/���������/�� x-morph=”OSHM:HR/Ncmsc/Sp2fs”

5Q
6n Marks an anomalous form.
7p We read punctuation in L differently from BHS.
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x-cantillationLevel=”0.1.1” ”strong=”5947|���������� x-morph=”OSHM:HAampc”
x-cantillationLevel=”0.1.0” ”strong=”1346|��/���������� x-morph=”OSHM:HNcfsc/Sp2fs”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”3254”
x-morph=”OSHM:HVhi2fs” ”strong=”l/1361|��������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0.0” ”strong=”5750|����� x-morph=”OSHM:HD” x-
cantillationLevel=”0.0” ”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”6944|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”�
12 ”strong=”c/7604|��������������/�� x-morph=”OSHM:HC/Vhq1cs”
”strong=”b/7130|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp2fs” x-
cantillationLevel=”1.1” strong=”5971|���� a” x-morph=”OSHM:HNcmsa”
”strong=”6041|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0”
”strong=”c/1800|����/�� x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”1”
”strong=”c/2620|������/�� x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”0.0”
”strong=”b/8034|�����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 13 ”strong=”7611|����������
x-morph=”OSHM:HNcfsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” ”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”6213
a” x-morph=”OSHM:HVqi3mp” strong=”5766|�������� b” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1.0” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”������������|strong=”1696”
x-morph=”OSHM:HVpi3mp” ”strong=”3577|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”4672”
x-morph=”OSHM:HVNi3ms” ”strong=”b/6310|����/���/��� x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”3956|�������� x-morph=”OSHM:HNcbsc”
strong=”8649|���������� b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”1992”
x-morph=”OSHM:HPp3mp” x-cantillationLevel=”0.0.0” strong=”7462|��������
b” x-morph=”OSHM:HVqi3mp” ”strong=”c/7257|��������/�� x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”0.0” ”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn”
”strong=”2729|��������� x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”0”�
� 14 strong=”7442|������� b” x-morph=”OSHM:HVqv2fs” x-cantillationLevel=”1.1.0”
”strong=”1323|���� x-morph=”OSHM:HNcfsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”7321|���������
x-morph=”OSHM:HVhv2mp” x-cantillationLevel=”1.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”8055|���������
x-morph=”OSHM:HVqv2fs” ”strong=”c/5937|��������/�� x-morph=”OSHM:HC/Vqv2fs”
x-cantillationLevel=”0.1.0” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�����|strong=”3820
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”1323|�����
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0” ”strong=”3389|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 15 ”strong=”5493|�������
x-morph=”OSHM:HVhp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”4941|��/������������� x-morph=”OSHM:HNcmpc/Sp2fs”
x-cantillationLevel=”1.1” ”strong=”6437|�������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”1.0” ”strong=”341|��/�������� x-morph=”OSHM:HVqrmsc/Sp2fs”
x-cantillationLevel=”1” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” � ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”b/7130|��/��������/���
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x-morph=”OSHM:HR/Ncmsc/Sp2fs” x-cantillationLevel=”0.1” ”strong=”3808|���
x-morph=”OSHM:HTn”�����������|strong=”3372” x-morph=”OSHM:HVqi2fs”
strong=”7451|���� b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0”� 16
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1” ”strong=”559|��������
x-morph=”OSHM:HVNi3ms” ”strong=”l/3389|�������������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”3372”
x-morph=”OSHM:HVqj2fs” x-cantillationLevel=”1” ”strong=”6726|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”408|��� x-morph=”OSHM:HTn”����������|strong=”7503”
x-morph=”OSHM:HVqj3mp” ”strong=”3027|��/������� x-morph=”OSHM:HNcbdc/Sp2fs”
x-cantillationLevel=”0”� 17 ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|��/��������� x-morph=”OSHM:HNcmpc/Sp2fs” x-cantillationLevel=”1.0.0”
”strong=”b/7130|�/��������/��� x-morph=”OSHM:HR/Ncmsc/Sp2fs” x-
cantillationLevel=”1.0” 8 We agree with both BHS 1997 and BHQ on an unex-
pected reading. ”strong=”1368|��������� x-morph=”OSHM:HAamsa”
”strong=”3467|���������� x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”1”
”strong=”7797|��������� x-morph=”OSHM:HVqi3ms” strong=”5921|��/�������
a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1.1.0” ”strong=”b/8057|���������/���
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1.1” strong=”2790|����������
b” x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”0.1.0” ”strong=”b/160|��/���������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”1523|�������
x-morph=”OSHM:HVqi3ms” strong=”5921|��/������� a” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0.0” ”strong=”b/7440|�������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0”� 18 ”strong=”3013|������� x-morph=”OSHM:HVNrmpc”
”strong=”m/4150|��������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0.0”
”strong=”622|����������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0”
strong=”4480|��/������ a” x-morph=”OSHM:HR/Sp2fs” ”strong=”1961|������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1” ”strong=”4864|���������
x-morph=”OSHM:HNcfsa” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”2781|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 19 ”strong=”2005|����/���� x-morph=”OSHM:HTm/Sp1cs”
strong=”6213|������� a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��/�����������|strong=”6031
b” x-morph=”OSHM:HVprmpc/Sp2fs” x-cantillationLevel=”1.0” ”strong=”b/6256|����/���
x-morph=”OSHM:HRd/Ncbsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs”
x-cantillationLevel=”1” ”strong=”c/3467|�������������/�� x-morph=”OSHM:HC/Vhq1cs”
”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/6760”
x-morph=”OSHM:HTd/Vqrfsa” x-cantillationLevel=”0.2.1” ”strong=”c/d/5080|����������/��/��
x-morph=”OSHM:HC/Td/VNsfsa” x-cantillationLevel=”0.2.0” ”strong=”6908|���������
x-morph=”OSHM:HVpi1cs” x-cantillationLevel=”0.2” strong=”c/7760|��/���������/��
a” x-morph=”OSHM:HC/Vqq1cs/Sp3mp” x-cantillationLevel=”0.1.0” ”strong=”l/8416|���������/��
x-morph=”OSHM:HR/Ncfsa” ”strong=”c/l/8034|�����/��/�� x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”������/���|strong=”d/776”
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x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”1322|�/����������
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0”� 20 ”strong=”b/6256|����/���
x-morph=”OSHM:HRd/Ncbsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs”
x-cantillationLevel=”1.1.0” ”strong=”935|������� x-morph=”OSHM:HVhi1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1.1”
”strong=”c/b/6256|����/��/�� x-morph=”OSHM:HC/Rd/Ncbsa” x-cantillationLevel=”1.0”
”strong=”6908|�/�������� x-morph=”OSHM:HVpc/Sp1cs” ”strong=”853|����/����
x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”5414” x-morph=”OSHM:HVqi1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.1.1.0”
”strong=”l/8034|�����/�� x-morph=”OSHM:HR/Ncmsa” ”strong=”c/l/8416|���������/��/��
x-morph=”OSHM:HC/R/Ncfsa” x-cantillationLevel=”0.1.1” ”strong=”b/3605|����/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.1.0” strong=”5971|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”b/7725|�/�������/��� x-morph=”OSHM:HR/Vqc/Sp1cs”
”strong=”853|��� x-morph=”OSHM:HTo”����/����������|strong=”7622”
x-morph=”OSHM:HNcfpc/Sp2mp” x-cantillationLevel=”0.0.0” strong=”l/5869|����/������/��
a” x-morph=”OSHM:HR/Ncbdc/Sp2mp” x-cantillationLevel=”0.0” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”�


